POULE A

MJ | PTS TG points attribués
1 |ALPIQ 5 16 19 gagné nul perdu
2 [DE GIORGI 3 12 11 4 2 0
3 |GARDINO 2 4 5 TG = Nbr¢ de trous gagnés
4 |INESTLE 2 4 4 MJ = Nbre de Matchs Joués
5 [KENPROD 3 0 3
6 [TRANS WF 3 0 0
7 [DUNLOP 0 0 0
Equipes TG | point Equipes TG point
1 DE GIORGI 2 4 contre ALPIQ 1 0
2 NESTLE contre DE GIORGI
3 KENPROD contre DUNLOP
4 TRANS WF contre KENPROD
5 GARDINO contre DE GIORGI
6 ALPIQ 5 4 contre NESTLE 1
7 TRANS WF 0 contre GARDINO 5
8 ALPIQ 4 contre KENPROD 1
9 DUNLOP contre NESTLE
10 GARDINO contre DUNLOP
11 DE GIORGI 4 4 contre KENPROD 1 0
12 ALPIQ contre DUNLOP
13 KENPROD 1 0 contre NESTLE 3 4
14 DE GIORGI contre DUNLOP
15 ALPIQ 5 4 contre TRANS WF 0 0
16 GARDINO contre NESTLE
17 DUNLOP contre TRANS WF
18 DE 6IORGI 5 contre TRANS WF 0 0
19 ALPIQ 4 4 contre GARDINO 0 0
20 GARDINO contre KENPROD
21 TRANS WF contre NESTLE
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Pts | TG | Mj
DE GIORGI 4 0 4 0 4 0 12 | 11 | 3
ALPIQ 0 4 4 0 4 4 16 | 19 | 5
NESTLE 0 0 4 0 0 0 4 | 4 2
KENPROD 0 0 0 0 0 0] 0 3 3
DUNLOP 0 0 0 0 0 0] 0 0 0
TRANS WF 0 0 0 0 0 0] 0 0 3
GARDINO 0 0 0 0 0 4 4 |5 |2
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